Part 1 (General Knowledge)

Who is the President of India?

a. Venkaiah Naidu

b. Pratibha Patil
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One pound is equal to how many grams?

a. 250 gms.

b 450 gms.
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What is our national game?
a. Cricket

b. Hockey

c. Ramnath Kovind

d. Draupadi Murmu
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c. 650 gms.

d. 1000 gms.
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c. Football

d. Tennis
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Who is the Tokyo Olympic Gold Medalist of India”
a. Ravi Dahia c. Mirabai Chanu

b. Neeraj Chopra d. P.V. Sandhu
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Frontier, the world’s fastest super-computer has been developed in Which

country

a. USA c. China
_Russia

b, RSS! d. India
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Operation "Mahila Suraksha” is an initiative launched by which Govt Organisation?
a. National Commission for Women c. Railway Protection Force
b. Ministry of Women and Child Development d.Niti Aayog
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Which are not consonants of English Alphabets?

a. 8 &0

b. D d. M
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In 2014 Russia had annexed which part of Ukraine”

b.Crimea
a.0dessa

d.Donbas and Chemihiv
c.Zaporizhzhia

2014 Hi 2[eunt g5eteil 01 o101 50157 541 5eAL?
a il b. [54lwil
<tsxil

b - SOl v 2[5 [
C AR [y d 1

2014 ¥ =8 7 T F 37 2 9% st 7. FopT 472
F. AT T AT

. Sgurffogar EEEEIGE et

Regional Head quarter of WHO in India is located in which city?

a. Mumbai c. Bengalury
b. Delhi d. Chennai
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What is Ayushman Bharat Yojna?

a. Education loan ‘
C. General insurance

. Health Insurance
0 d. Accidental insurance
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ES| Scheme isa ?

a.lnsurance Scheme

b. Savings Scheme
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c. Pension Scheme

d. None of the above
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What is the new name of Turkey from June 2022 as per United Nations?

a.Turkiye

b. Ankara
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What is the capital of Ukraine

a. Mariupol

b.Odessa

seted] sl d 2

a Halyle

CEIRE

T AT T T 57
F. WA

g, dredT

On Which Day is Doctors Day is celebrated?

a. 21%June

b. 5™ June

41 [2ad Sis2ad 3 GoydatHl 2ud 97
a 21 *leyq

b 5 ey

7. 21 5

J. 5 S
o

Who is the Head of any Union Territory of India?
a. Chief Minister

b. Home Minister
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c. 5" April

d. 1% July I
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c.Health Minister

d. Lt. Governor
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16, How many total members of Parliament (Lok Sabha and Rajya Sabha combined) are

there?
b. 245 d. 182
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a 788 c. 543

b 245 d. 182
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17.  How do you convert Kilometer into Mile -

a. km = 8/5 x Mile c. km = 2xMile
b. km = 5/8 x Mile d. km=3xMile
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What is the Age Limit for Officers to be eligible for becoming Chief of Defence Stag
(CDS)?

c 65 Years
a. 60 Years

& vears d.70 Years
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36" National Games are going to be held in which state between 27 Sept 22 ang
227

a.Delhi c. Telangana

b.Karnataka d. Gujarat
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Which city.is also known as the Diamong City of India?
a. Hyderabad

C. Kolar
b.Surat

d.-Mumbai
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On which day of the year, are night and day equal?
a. 23™ Mareh c. 21 June

bh. 22™December d.March 21
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Who among the following considered as the ‘Father of Artificial Intelligence’?

¢. John McCarthy

a.Thomas Edison

b. Albert Einstein d. Nikola Tesla
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n example of a software application

Select a2
a. Ms Word c. Both A and B
b. Ms Excel d. MS-DOS
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a Ms Word

b Ms Excel d. MS-DOS
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Which cyclone struck Saurashtra in Gujrat in 20217

a.Fani c. Tauktae
b.Typhoon d. Cyclone Amphan
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Who is Head of State Disaster Management Authority?

a. Chief Minister
N - c. Health Minister
‘Home Minister
d. Health Secretary
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What are the benefits given under Vidhva Sahay Yojna of Gujrat Govt for widows?
a. Free medical benefits upto 2 lacs c. Rs.1250/- per month

b. Free Education upto post-graduation d.Rs 50,000 Annually
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What is Sukanya SamruddhiYojna?

a. Monetary Benefit c. Education loan

b. Health Insurance d. Savings Deposit Scheme
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Suez Canal connects which two areas”?
and Black S
a.Mediterranean Sea to Red Sea c. Red Sea ea

b.Ebdpe to Russia d.Atlantic Ocean to Pacific g,
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Which of the following was known as the last Mughal Emperor?

a. Ahmad Shah Abdali c. Shershah

b.Bahadur Shah Il Zafar d.AlauddinKhilji
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In which State biggest gold mine |gcated?

a. Kerala c. Andhra Pradesh

b. Orissa d. Karnataka
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How many states are there in India?
a. 28

.29
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a28
b 29
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Headquarters of WHO is located in which city?

a. New York
b. Geneva

WHO o v s 51 aaul wAd 87

27

ART treatment given for which disease?

a. HIV positive

b.TB
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d. London
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c. Malaria

d.Filaria
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India is the largest producer of which natural mineral?

a. Iron Ore c. Sheet Mica

b. Bauxite d. Manganese ore
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Which of the following is a waterborne disease.

a. Malaria c. Dengue

b. Cholera d. Pneumonia
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When do we celebrate world Environment Day?
th: ot
a. 5 june c. 1% July

b. 1% April d. 11" July
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Which of the following is known as first war of Independence?

a.1857 Mutiny c. Pabna revolt

b. Kuki revolt d.Jallianwala Bagh Struggle

Alaimisl] 52 2adstdLAL uaH 4ed dds silam 97

a 1857 [Agly C. Woi-l Hadl
b 55l 4l d . syl@aianal o191 2al

Rrerfrfars & & BF org oadaaT 5UTH F BT § ST ST 82

F. 1857 fagre R CCIREEE

How many Gold Medals did India win in Commonwealth Games 2022.
a. 18 ¢ 12

b.22 d.28
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b 22 d. 28



38.

39.

39.

39.

40.

40.

40.

g e 2022 #F e 7 Fiee w97 A7

N2
F. 18 T

; ¢ hootings?
Which country recently passed the Red-Flag bill to prevent mass S g

a. New Zealand c.Ukraine

b. USA d. Saudi Arabia
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Where is COVISHIELD vaccine manufactured in India?

a. Mumbai c. Pune

b. Delhi d. Ahmedabad
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1. water of cocopytis ?
53 Liquid nucellus W Cocns Nucifar
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5 Mission Indradhanush campaign in India.is.associated with-. =7
a.Vaccination of children c. Nutrition to Pregnant Women
h. Awareness of Diabetes d. Eradication of blindness
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Anatomy is a branch of science which deals with?

' . Ani ehaviour
a. Structure of animals and plants c. Animal behz

i
b. Functioning of body organs d. Cells and tissue
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Epidemiology is the study of?
a. Endodermis disease c. Dermis disease
b. Epidemic disease d. None of the above
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Name an instrument which is used to measure the Density of milk?

a. Lactometer c. Barometer

b, HydrOmEter d. Hygrometer
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What do you understand by Aerodynamics?

a. Itis ascience of movement in a flow of air or gas.
b. Itis a science of generative organs.

¢. Itis a science of pleasure and pain.

d. None of the above

. b =~

HZLAAHSH LAURL dH Y UHSHL 917

2. A ual Bl QAL UL g CRIEN3]
b. A oy-i2fza Bildieue At 9,

¢, A lide 2 gt (A 8.

d. Guisduisl 519 lw

3

A

AT & oTq AT AT E 7
¢ W@miﬂﬂﬁ'ﬁﬁ?l
.z g o A

Which of the following immunity s called the first line of defense?

: c. Passive immunity-
d. Innate Immunity

: mmunity
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Which organ works as master control in the human body?

a. Kidneys c. Brain

B. Liver d. Heart
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The eggs don’t contain the following nutrient.

a. Fat c. Carbohydrate

b. Protein d. Vitamin
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The “World Health Day” is celebrated on

a. May 31 c. October 16

b. April 7 d. November 07
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Polio is caused by a

a. Toxin c. Virus

b. Bacteria d. Fungus
ULRAL (e 541 5120 91 2,
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Radium was discovered and Radioactivity ‘was discovered by _
respectively.

a. Marie Curie and pierre Curie c. Niels Bohr and Albert Einstein

is.
, d Nikol- ;
b. Rutherford and Nikol, d. Marie Curie and Henry Becqu¢
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Which of the following is a River Borne Disease?
a. Conjunctivitis c. SARS

b. Malaria d. Diarrhea
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Which Disease is known a° Monkey Fever:

c. Monke
3. Yellow Fever S pax

isease
b. Rift Valley Fever d. Kyasanur Forest Dised
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Anti-larval activity should be done for how many days ina week?

4]
N

a. Two c. Four
B. One d. Three
AlAL (420l wald wiedilenmi szal (242 s24] s71501?
8.
aol c. 412
B. ul% d. A
F. T, AT
q. UF g, A
If the Infant Age is less than two month how much respiratory rate su
pneumonia? 09.
a. More than 40 / min c. More than 60/min
b.. More than 80/min d. Morethan 50/min t
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/@8. Which one is safer and commonly used insecticide for domestic purpose?

a. Malathion c. Cyanogens

b. Alfa Cypermethrin d. Gamaxine
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Pyarazinamide should be stopped after two months of treatment because of
a. Deafness c. Gout
b. Optic Neuritis d. Liver damage

5L S136L 5 ARAIRAL S MLl UL TP el iis g o 529 67155
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a 41219l c. dlfa)

b viilt2s <42[2x d. dla2 4541
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Amoebic dysentery, amoebiasis is an intestinal illness and caused by

a. Toxoplasma gondii C. Ascarislumbricoides

b. Entamoeba histolytica d. Human immunodeficiency Vi§3
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How is Dengue Fever spread?
a. By human-to-human Contact

b. By mosquito bites

e did 54l A zaln 597

a HIAA-2]-HIAD 2445 21l
b H2292 524414l
F. WIAT-H-HTHE HT0 5140

73- |'°H\%Emz_:fﬁ

M sy e,

g, {1 TiaefT =gaa Fumg

c. By unhygienic air

d. By eating unhealthily

C. 24294289 Al 2RI

d. [Baziious Wil

I A= gATH

H. FAETESFT Wl F3d o

Which of the following can cause Hepatitis-B?

3. By sharing drug needles
b. By mosquito bites

Wrimisf] 24 Gzt
3 2| iy, AT TEETT TTAN

b 32193 52 geq12].

c. By unhygienic habits

d. By eating unhealthily

Sog-niled 5120 Al 215 297

C. w2289 2L LAIRL

d. Pyeqotizioane sl
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is the hereditary material in humans.

a. DNA c. Blood
b. Proteins d. Sperm

L He VAR A1, 9,

a.dlwicwi c. didl

b Uizl d. 4sliy
TS H AT AT 2

. ST T, g

. I o, ST

In the very famous diagnostic technique “RT PCR” test, PCR stands for

a. Polymerase Chain Reaction ¢. Polysacharride Chain Reactio

b. Polymerase Chemical Receptors d. Polymer Chemical Receptors

BB 6y Y- L [ Bel e 2 Es 5 1 q
A1 HOAUA S92 25[4s “RT PCR 22241, PCR i w49 919 9

aU[AHZ% U, Bl S O
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Artisunate Combination therapy is used in treatment of

a. 1B

b. Leprosy

( Mi‘ltlll-l

d. Aids

3){.[.[2:3.i:1,a glﬁ'(’{:l%ld Z{Ql““'il @“l’ildl %'rg ;i{.l.:{’{l_;{ll,i, 914 ;'()

a. 2loll

b, 25dlud

e FERTeT 2y &7 o s S 3 o St 272

. Frat

g, F8 U

Light entering the
a. Retina

b. Sclera

s WAL W1 Sl gl (LB 20 8

a 2zl

b

(SN

m
SEd)

eye is controlled by

c. Hetlzm

d. 21490

T, e

c. Pupil

d. Conjunctiva

c. [a=n4l

d. slesys2lal

st 3 wyer Sy AT STeRTer fohe ETeT (AT g €2

T, e

T EFAT

hormon

a. Insulin

b. Glucagon

e is responsible for “Fight-or-Flight Response”.

. gt

A, FSTIRAT

c.Gastrin

d. Adrenaline
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Testosterone is
a. Enzyme

b. Hormone
2221223 9

a UeR 1Y

b Ml

q. ZTHH

Diabetes is a condition of
a. Enzyme deficiency

b. Hormone deficiency
RN EE T O] e

a plenloHdl Gy

b il Gy

32
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)
@

a—' i )\;J \ %

c. Vitamin

d. Receptor

c. [z

d. 2342z

T. Aty
7. Rt

c. Vitamin deficiency

d. lodine deficiency

c. (424l Gy

d. 20 [eeA{] Gury
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Melanin is a protective pigment in the skin. It protects from

a Infrared rays

b. Visible rays

c. Ultraviolet rays

d. Electromagnetic rays

Hell[A cAALHLHEUHS 2010 9. 4 Geite] 22410 2417y 297

a Oegls (52000

b gsMI (5201

Al A ool =T § U FTeTen Tl 2| o7

(\ .
e, A {<h Teh 7]

7. 397 et

Food poisoning by which of the following:-

a. ncov-2

b. Gonococcus

y~ L - - ,'.‘*,(‘- % g 7:\'._
A4t S 21l g4 B[N A

a ncov-2

b vlA1s159,

Frerferfar o o s 37T AT IERIRTIEE
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¢. Clostridium Botulinum

d. Leptospirosis

c. sellfzz(eam o244

d. drziznzizi

T, e Ry A
. ez



33.

r_3r4.

v o

B35

‘ or’ ast.
is a species of yeast, known as baker’s ye
isi c. Escherichia coli
a. Saccharomyces cereviside

d Penicillinschrysogenum
b. Monascuspurpureus

s . f - Vg 4 ) 1 if

o1 422l ;'){% 'H,"Tﬂ.[fl. ﬁ(l Gy D152l |ve Az]y DIV Y.
N s 292 4lM) 514l
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Who is the author of the book named “The Qrigin of Species”?
a. Aristotle c. Charles Darwin

b. Robert Hooke d. Albert Einstein
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a silz2i124 C. AR s
b o1 s d. 2lleoie w15 ez215q

LAttt T, AT 2T

o 7T T o
: H. dAedd Ao

Which of the following diseases s spread through Birds ?

a. Psittacosis ‘
C. Diptheria

b. Swine Flu
d. Bubonic Plague
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F, ATZCHITHY 7. FEefiiom

g, T T B, 2T T
gas damages the Taj Mahal.

a. Oxygen c. Sulfur dioxide

b. Carbon dioxide d. Hydrogen

I AISrHEAA A5l Uil 9.

a (5457 C. UEE2 ALFAIDS
b 5151 SIAISALDE d. Gldgies

e qToraEe A AT gl 2l

T st T, TR STEAFATZS

T, FTad STEATFATLS H. grEgIem
What is the name of the innermost layer of atmosphere 17 KM above sea level?

a.TroposptiYe: c. Hemisphere;

b. Exosphere; d. None of the above,

v N of L T B rloldl « -“.')‘:/‘;‘.' :.i-(-'-c' ".5(?
W o 2ld] 17 KM Gz ALzt U, 21l U720 2Azed A1n 4 9

a 2 iZsu; gt

e T sAuiEl §165 S,
b 52412513 d. GWisduidl 510
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Rickets is caused by deficiency of

a. Vitamin-A

b. Biotin

(Rsex Al Gaudlam e
a [4214l4- 2

b o114 [z

l \Eiﬁa;ﬂ )
S —t N

F. @t -u
g, FrgIed

Trachoma is Caused by
a. Virus

b. Bacteria

a U2

b 52(211

S ATIHE T HAH T T T AT A 22

1T, THT;IT%T,'

. a8 A A AR,

c. Vitamin-D

d. Protein

c. [A21@4-4l

d. Wizl

T. e
. T

C. Protozoa

d.Fungus

C. UlelAlol



ﬁo- Albert’s Stain can be used for diagnosis of which diseas
es

_Diphtheria

R C. Cervical Cancer
. Measles

b d. Dengue

fo.  AAEZAAL G 2L 305014y [ a3

r -
521 9121 79

a [oaf1 C. UAI)EH seuz
b #i2] d. 42y
Go mﬁ@?ﬂ?@ﬂ%ﬁfﬁﬁ%ﬁ?ﬁ%%%ﬂﬁﬂ?
%h, TSI T, W=7 FET
g. gq9q q. 397

@1.  Pollution by which gas can produce lung cancer

a. Automobile exhaust c. CFC
b. Sulphur dioxide d. Ozone
@1-5 WEML S 6%l 2121 34 g5l sz Ual 52l 45
a BIZIHIoNS Y, D52 c. wl2izl
b %252 S50 d. 2l
Bl Ty frersfit i FeRsT AT HHCAS ‘,
; g. A

@2. EXampIe of Code red in triage is

c. Breathing difficulties
4. Minor fracture

d. Dead on arrival
B. Burns
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Who founded the International Red Cross?

a.Thomas Henry

b. Edison

2IARRE1A 28 sl 2201l 5100 53] ¢ dl?
a A1 ¢4l

b 2i[344

ATUEIT T2 I At 27 gy 0

F. ATHE AL
g, ufEad

Who is called the Post Natal Mother?
a. 0-7 days,

b. 0-28 days;

c. a1 AAMlL dsdly

Y. DUYHA L HA

T, T AT W FwATS

T, TEA 97 G A fipp o

c. Dunant Henry

d. None of the above.

C. $Ytle2 ¢zl

d. GWiisdnisf] 55 A

. g

q. T ﬁﬁ”f—f‘#ﬁﬂ'ﬁl

C. 8- 28 days;

d. From delivery to 42 day*
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Who are termed as High-Risk Mothers?

a. Who is under 15 years of age; c. Who is above 35 years of age;

b. Whose height is less than 140 ¢m; d. All of the above.

sl ¢190-[225 WL 425 AAIML LId 29?

a 6y+{l GHz 15 a4l viisd) ; ¢ 64+{l G4z 35 adefl o 2,

b il GlaniS 140 A+ 4l 2119l &9; d. GU2Lsd dHIH.

3 SR et wraTd o FR S

T, Ry smg 15 a0 § FAE; - 7. vt 9y 35 ad & arfem
7. Ry e 140 A A FAE . FOT & T

What is called the keeping of baby in close contact with mother to avoid

Hypothermia?
3. Kangaroo Mother Care; c..Both of these;

d. N hese.
b. Cow mother care; one of tk@ss
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Acid Rain is due to

a. Sulphur Dioxide Pollution c. Pesticide

b. Carbon Monoxide Pollution d. DustParticles in atmosphere
AR 4214 51291 89

a UeE2 SLASADS Uzum C. /19l

b 516t Hidisu e UEHEL d. dldlqzRn] 4o sull
TEATT 7T freres r 2eft 2

. HOET STEHHTTE yeuw 1. AT

g AT AATAETE ey o, ATATI & e ¥ gy

DNA fingerprinting is 3 technique used for detection of

. AIDS
d C. Yellow Feyer

b. Disputed Parentage
e : d. All of these
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Which is the most abundant element in atmosphere?

a. Water

b. Nitrogen

FAlAze, didl a8 [Eye, wHmE 4 dcd 97
a il

b Al5z158

c. Oxygen

d. Carbon

c. WLBLA

d. 51014,

mﬁﬁ@mwﬁwmﬁmwﬁ?mé?

F. T

- 3

Small-Pox Vaccine wWas discovered by

a. Louis Pasteur in 1870

b.John Snow in 1942

T, st

T, FTaT

¢. Charles Darwin in 1926

d. Edward Jenner in 1796
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What area of the slaughter house should be tiled?

a. Walls up to 3ft height:

b. Floor only;

TAQUALALAL 54| (Q2.q3% 2196, 4|94 Y 1:50] 7
a 3ft Glagie ] [Eaudi;

b H13t 5413,

A=A ?ﬁﬁmﬁ?ﬁmm%p
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AT of

What is the Max;
Mukhiya Savika?

Mum Strength

a. 10-15

b. 05to 10

¢.aand b both:

d. None of the above.
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8\ 20 to 25.
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43 What is the prime focus of National Health Mission?

a. To reduce infant mortality rate;

b. To reduce maternal mortality rate;

c. To ensure quality service to pregnant woman;
d. All of these.

6 wlywuion Mang gty 29?
3 (G5l Mt 22 421501 HIZ; ¢ AL 2l AL A QAL A 52
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34, In which City of India did plague outhreak happen in Sept 94
i IC ity O A

c. Delhi
3. Hyderabad

d. Surat
b. Mumbai 43
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_3s. Leprosy should be treated for minimum period of ?

a. Lifelong c. 05 years

b. 06 to 12 Months d. 20 Years

B5 llad] ez silewui vl quponog 4 g4 A1, ?

a w1129 c. 05 44
b 06 4l 12 4y d. 20 94
9. gﬁgﬁvmwwm%ﬁnwww@?
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56.

a. Dengue Feyer

C..Hepatitis-C
b. Yellow Feyer

LAy !',
d lananacfyncephalitis
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Which of these is not an occupational disease?

a. Asbestosis

b. Lead poisoning
Sl i Azl s 210 al?

3 Bizoizaidlx

b als uioodl @
=i 2 e T PATAAT TR 57
F, TEIEITEH

BCG protects the persat from___—

a. Polio

b. Tetanus

. 97| 241 5279
BCG AlAd___—— AL A

awifeil

N EEEEY =

c. Haemophillia

d. Skin Cancer

c. dlHigllan

d. a4l SeA2

T, :Sn 18| Cﬁ”ri‘q

o AT FET

c. Tuberculosis

d. Hepatitis-B

¢. 2zl

d. Azl Hil
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What is the causative agent of poliomyeé
c. Rota Virus;
a. RNA virus;
b. DNA vi d. None of these.
; VIrus
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a. BUB45] 142; C 2121 AUAR3Y;
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Goitre is related to
_—‘—-—.—
a. Pancreas
C. Thyroid

b. Hypothalamys Glang
d. Parotig Gland
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